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Divide a three digit dividend by a
one digit divisor with remainders

4.NBT.6 I can divide a
four digit dividend by a
one digit divisor using
the standard method.

I can understand and
interpret remainders in a
real world problem.

Divide a four digit dividend
by a one digit divisor with

remainders

Name:________________

Divide a one digit dividend by one digit divisor

Divide a two digit dividend by a one
digit divisor with remainders

Interpret remainders
in a real world problem

Step 1

Name:_______________

Solve:

4 ÷ 4 =

9 ÷ 2 =

8 ÷ 3 =

9 ÷ 3 =

Step 1

Name:_______________

Solve:

4 ÷ 4 =

9 ÷ 2 =

8 ÷ 3 =

9 ÷ 3 =

Step 1

Name:_______________

Solve:

4 ÷ 4 =

9 ÷ 2 =

8 ÷ 3 =

9 ÷ 3 =

Step 1

Name:_______________

Solve:

4 ÷ 4 =

9 ÷ 2 =

8 ÷ 3 =

9 ÷ 3 =

Step 2

Name:_______________

Solve:

24 ÷ 7 =

24 ÷ 8 =

Step 2

Name:_______________

Solve:

24 ÷ 7 =

24 ÷ 8 =

Step 2

Name:_______________

Solve:

24 ÷ 7 =

24 ÷ 8 =

Step 2

Name:_______________

Solve:

24 ÷ 7 =

24 ÷ 8 =

Step 3

Name:_______________

Solve:

144 ÷ 6 =

123 ÷ 8 =

Step 3

Name:_______________

Solve:

144 ÷ 6 =

123 ÷ 8 =

Step 3

Name:_______________

Solve:

144 ÷ 6 =

123 ÷ 8 =

Step 3

Name:_______________

Solve:

144 ÷ 6 =

123 ÷ 8 =

Step 4

Name:_______________

Solve:

2465 ÷ 5 =

7435 ÷ 6 =

Step 4

Name:_______________

Solve:

2465 ÷ 5 =

7435 ÷ 6 =

Step 4

Name:_______________

Solve:

2465 ÷ 5 =

7435 ÷ 6 =

Step 4

Name:_______________

Solve:

2465 ÷ 5 =

7435 ÷ 6 =

Step 5

Name:_______________

Solve:

Step 5

Name:_______________

Solve:

Step 5

Name:_______________

Solve:

Step 5

Name:_______________

Solve:

Margo is making 60 black bean burgers to serve at
a party. She wants to buy enough buns for all the
burgers. Buns come in packages of 8. How many
packages does Margo need to buy?

Carlos is making centerpieces. He is putting 6
lilies in each centerpiece. He tells Ana she can
have any lilies that are left over. If Carlos has
80 lilies, how many lilies will Ana get?
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Divide a three digit dividend by a
one digit divisor with remainders

4.NBT.6 I can divide a
four digit dividend by a
one digit divisor using
the standard method.

I can understand and
interpret remainders in a
real world problem.

Divide a four digit dividend
by a one digit divisor with

remainders

Name:________________

Divide a one digit dividend by one digit divisor

Divide a two digit dividend by a one
digit divisor with remainders

Interpret remainders
in a real world problem
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